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R Yool 5th Semester Exam-» 20

OPERATING SYSTEMS . 70
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wre are NINE questions (n this pap

Attempt FIVE questions in all.

Jiestion No, 1 is compulsory.

. ox7=14
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1. Choose the correct option (any sé

: em, the
‘@l In which type of operating syst

. a2
response time is very crucial:
(ij Unix operating systeim

(i) Real-time operating system
(iiij Network operating system

(iv) Batch operating system
bj A process is

fij a program in high-level language
kept on disk

(i & contents of main memory
(i) a program in execution

{iy) a job in secondary memory

AVSI1TO

http:/fwww.akubihar.com

{ Turn Over )

woy regignye aam/dny

o ey e sy sdanyg

AK9/170

http:/fwww.akubihar.com

(2

The siralcRy of temporatly

(e} 4 process that s logcally l|.:.l_"-j”:1"*'
called !
w preemphive schedoling
juj non-preemphve s hed Hiryg
pi) shortest job first
Al first come, first serve

id) Toavoid the race condinon, 1y,
0{ processes that a
simultancously  nside  the,
section 1s
fiy 8
fiy 1

;Tﬁ,} fuij 2

fir) 4

fe) Fork is used 1o
(i dispatch a task
(u} create a new job
(5;} create a new process
fiv) increase the priority of a sk

() The principle of locality of referes
Justifies the use of
(i) secondary memory
(ii) critical section
(iii) virtual memory
(iv) cache memory
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i} awnp]\ing
i) pur
(I J pure demang Paging
i) multiple

pl Contingg, 4 UECT I TTIIIS
The piece of code )
. M only ane by
snould execyre At A e 1y ¢l
[} mutuaj exchision
fE_} critical section
(itf) synchronization
{iv/ Nonc of the abave
Which memary  allocatyon pony
allocatcs the largest hoje tG the pr
fij Best fit

Lﬁ) Worst it
fiti) First fit
fivy None of the above

oCeRy

When there is encugh memory to fit a
process in memory, but the space 15 no:
continuous, then which of the followmy
is required?

{§ Internal fragmentation

i} Virtual fragmentation

fiiij External fragmentation

{iv} None of the above
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2. What s an operating

Beg,
Enumerate the pbasic function,, o e

operating system and e
brief,

fb)  What is meant by proce
Explain the different fi
the help of 4 dia

concept Context Switch
example, ’

(i) Round roby
(b, Differentiate
scheduling

scheduling, o
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Caloutate (the tasbien of page fanite that
would oecui fi the follewing  page
replacement algorithine with frame size
of 4 -
N FIFO
f LRU
Explain the concept of semaphores with
the help of an example. g+6=14
Discuss the performance criteria of CPU
scheduling.
Compare and contrast between linked
and indexed disk allocation strategies.
6+8=14
http:i'www.akubihar.com
Mhustrate with examples the following
disk scheduling algorithms :
fij BETF r
fiij C-Loock
Explain the memory hierarchy of the

operating system, B+o=14

k- ._!'. Write short notes on the following | 14
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